
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(fnlacj eSx”khu tk¡p ijh{kk)
fnukad& 09.12.2018

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fgUnh vkSj vaxzsth Nik gSA izR;sd iz'uka'k esa 
pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs gSaA 
;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 LVªhV ykbV~l dks gVkus vkSj ns'k ds 'kgjh {ks=kksa 

esa fctyh dh ykxr dks de djus ds fy;s phu 
dh 2020 rd Ñf=ke panzek ykWUp djus dh 
;kstuk gSA

	 2.	 ;g Ñf=ke panzek i`Foh ls 500 fdeh- dh Å¡pkbZ 
ij pDdj yxk,xkA

	 3.	 bldk izdk'k okLrfod panzek ds izdk'k dk 
nksxquk gksxkA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 2.	^panz ,Dl&js osèk'kkyk* ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 23 tqykbZ] 1999 dks ykWUp dh xbZ panz ,Dl&js 

osèk'kkyk ,Dl&js [kxksy foKku ds fy;s uklk 
dk ,d izeq[k fe'ku gSA

	 2.	 bldk uke Hkkjrh; ewy ds vesfjdh oSKkfud 
lqczã.;e panz'ks[kj ds uke ij j[kk x;k gSA

	 3.	 ;g varfj{k esa 139,000 fdeh- dh Å¡pkbZ okyh 
d{kk esa LFkkfir gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 3.	^vL=k felkby* ds lanHkZ esa] fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 vL=k Hkkjr dh igyh Lons'k fufeZr n`'; lhek 

ls ijs gok&ls&gok esa ekj djus okyh felkby gSA

	 2.	 blesa Bksl ,oa nzo] nksuksa b±èku iz.kksndksa dk iz;ksx 
fd;k tkrk gSA

	 3.	 ;g mUur iz{ksikL=k yM+kdw foekuksa dkss 100 fdeh- 
dh nwjh ls nq'euksa ds foekuksa ij fu'kkuk yxkus 
vkSj mUgsa ekj fxjkus dh {kerk iznku djrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 4.	^cSfyfLVd felkby j{kk iz.kkyh* ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 bldk y{; i`Foh ds ok;qeaMyh; {ks=k ds dsoy 

ckgj ls vkus okyh nq'eu dh cSfyfLVd felkbyksa 
ds fo#¼ izHkkoh felkby dop iznku djuk gSA

	 2.	 blesa ,Dlks&,VeksfLiQ;fjd ,oa ,aMks&,VeksfLiQ;fjd 
nwfj;ksa ds fy;s Øe'k% i`Foh fMiQsal Oghdy vkSj 
,Mokal ,fj;k fMiQsal uked nks baVjlsIVj felkbysa 
gksrh gaSA

	 1.	 Consider the following statements:
	 1.	 	China plans to launch artificial moon by 

2020 to remove street lights and reduce 
electricity costs in the urban areas of the 
country.

	 2.	 The artificial moon will revolve around 500 
kilometres over the Earth.

	 3.	 Its light will be double as compare to the 
actual moonlight.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 2.	 Consider the following statements in the context 
of 'Chandra X-ray Observatory':

	 1.	 Launched on July 23, 1999, Chandra X-ray 
Observatory is a major NASA mission for 
X-ray Astronomy.

	 2.	 It has been named after Indian American 
scientist Subrahmanyan Chandrasekhar.

	 3.	 It is installed in space at an altitude of 
139,000 km.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 3.	 Consider the following statements in the context  
of the 'Astra Missile':

	 1.	 Astra is India's first indigenously developed 
beyond-visual-range air-to-air missile.

	 2.	 It uses both solid as well as liquid fuel 
propellants.

	 3.	 This advanced fighter missile has the ability 
to target the enemy aircraft and destroy 
them from a distance of 100 km.

	  	Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 4.	 In the context of 'Ballistic Missile Defence System', 
consider the following statements:

	 1.	 Its objective is to provide an effective 
missile shield against the enemy's ballistic 
missiles coming from the outer Earth 
atmosphere only.

	 2.	 For exo-atmospheric and endo-atmospheric 
distances there are two interceptor missiles 
called prithvi air defence vehicle and 
advance area defence respectively.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 5.	^,fo;k banz&18* ok;q lsuk vH;kl ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft;sA
	 1.	 ;g Hkkjr vkSj Úka¡l dh ok;q lsukvksa ds chp 

izfro"kZ fd;k tkus okyk lSU; vH;kl gSA
	 2.	 izFke ckj ,fo;k&banz dk vk;kstu o"kZ 2016 esa 

fd;k x;k FkkA
	 3.	 bl o"kZ bldk mn~ns'; f}i{kh; ifjn`'; esa 

vkradokn fojksèkh vfHk;ku esa ok;q 'kfDr dk 
mi;ksx djuk rFkk mls ekU;rk nsus ds lkFk 
loksZÙke izFkkvksa dks lk>k djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 6.	ty dhVk.kqjksèkh iz.kkyh ̂ vksuhj* ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 bldk fodkl esd bu bafM;k fe'ku ds rgr 

Hkkjrh; fo"kfoKku vuqlaèkku laLFkku] y[kuÅ 
}kjk fd;k x;k gSA

	 2.	 ;g iz.kkyh ty dk fujarj mipkj djrh gS vkSj 
chekjh iSnk djus okys cSDVhfj;k] ok;jl] dod] 
izksVks”kksvk] flLV vkfn dks u"V djrh gSA

	 3.	 bldk lapkyu lkSj ÅtkZ ls gks ldrk gSA
	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 7.	^Hkkjrh; fo"kfoKku vuqlaèkku laLFkku] y[kuÅ* ds lanHkZ 

esa]fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\	
	 1.	 bldh LFkkiuk o"kZ 2000 esa dh xbZ FkhA
	 2.	 ;g oSKkfud rFkk vkS|ksfxd vuqlaèkku ifj"kn dh 

la?kVd iz;ksx'kkyk gSA
	 3.	 bldk mn~ns'; m|ksx] Ñf"k ,oa nSfud thou esa 

mi;ksx esa yk, tkus okys jlk;uksa dh lqj{kkRedrk 
dk ewY;kadu djuk gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3
	 8.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 o"kZ 2014 esa Hkkjr dks iksfy;ks eqDr ?kksf"kr fd;k 

x;k FkkA
	 2.	 Hkkjr esa Vkbi&2 iksfy;ks ok;jl dk vafre ekeyk 

o"kZ 1999 esa mÙkj izns'k ds vyhx<+ esa ntZ fd;k 
x;k FkkA

	 3.	 iksfy;ks izksVks”kksvk tfur vR;ar [krjukd laØked 
jksx gSA

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 5.	 Consider the following statements in the context  
of Air Force Exercise 'Aviaindra-18'.

	 1.	 It is a joint air exercise between India and 
France air forces, which held annually.

	 2.	 For the first time Aviaindra was conducted 
in the year 2016

	 3.	 This year its objective is to use air power in 
the anti-terrorist campaign with recognition 
and share best practices in bilateral scenario.

		  Which of the statements given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 6.	 With reference to the Water Disinfection System 
‘Oneer’, consider the following statements:

	 1.	 It has been developed by the Indian Institute 
of Toxicology Research, Lucknow under 
Make in India Mission.

	 2.	 This system provides continuous treatment 
of water and destroys disease-producing 
bacteria, viruses, fungi, protozoa, cyst etc.

	 3.	 It can be operated by solar energy.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 7.	 Which of the following statements is / are correct 
in the context  of the 'Indian Institute of Toxicology 
Research, Lucknow'?

	 1.	 It was established in the year 2000.
	 2.	 It is the constituent laboratory of the Council 

of Scientific & Industrial Research.
	 3.	 Its objective is to evaluate the safety of the 

chemicals used in industry, agriculture and 
daily life.

	  Code:
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 8.	 Consider the following statements:
	 1.	 India was declared polio-free in the year 

2014.
	 2.	 The last case of Type-II polio virus in India 

was recorded in the year 1999 in Aligarh, 
Uttar Pradesh.

	 3.	 Polio is a highly dangerous contagious 
disease caused by protozoa.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 9.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 xqtjkr ljdkj dh ;kstuk ns'k dk igyk tSo 

izkS|ksfxdh fo'ofo|ky; LFkkfir djus dh gSA

	 2.	 tSo izkS|ksfxdh fo'ofo|ky; LFkkfir djus dk 
mn~ns'; bl {ks=k esa vuqlaèkku] uokpkj vkSj 
m|e'khyrk dks c<+kok nsuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 10.	lekpkjksa esa dHkh&dHkh fn[kkbZ nsus okys ̂ gkbijywi* 'kCn 

ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 gkbijywi ”kehuh ;krk;kr dk ,d u;k :i gSA

	 2.	 blds rgr ;k=kh de ncko okys V~;wcksa ds Hkhrj  
cksxh esa 1000 ehy izfr ?kaVs dh jÝrkj ls ;k=kk 
dj ldrs gSaA

	 3.	 gky esa fo'o ds izFke gkbijywi iSlsatj dSIlwy 
dk vukoj.k Úk¡l esa fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 11.	^tsusfVd bathfu;fjax ewY;kadu lfefr* ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bldh LFkkiuk dsanzh; foKku ,oa izkS|ksfxdh 

ea=kky; ds  varxZr dh xbZ gSA

	 2.	 bldk dk;Z vuqokaf'kd :i ls la'kksfèkr lw{e 
thoksa vkSj mRiknksa ds Ñf"k esa mi;ksx dks LohÑfr 
iznku djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 12.	pØokrh rwiQku ^Ms* ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 orZeku o"kZ esa vjc lkxj esa mBus okyk ;g 

izFke pØokrh rwiQku Fkk] ftldk ukedj.k fd;k 
x;k gSA

	 2.	 bls ;g uke E;k¡ekj }kjk fn;k x;k FkkA

	 3.	 de ok;qeaMyh; nkc ds pkjksa vksj xeZ gokvksa 
dh rs”k vkaèkh dks pØokr dgrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 9.	 Consider the following statements:
	 1.	 The Government of Gujarat has a plan to set 

up the first Biotechnology University in the 
country.

	 2.	 The objective of setting up Biotechnology 
University is to promote research, innovation 
and entrepreneurship in this field.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 10.	 Consider the following statements in the context of 

the term 'Hyperloop' that is sometimes seen in the 
news:

	 1.	 Hyperloop is a new form of ground transport.
	 2.	 The passengers can travel in the bogie at a 

speed of 1000 miles per hour inside low-
pressure tubes under this.

	 3.	 The world's first Hyperloop passenger 
capsule was unveiled in France recently.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 11.	 In the context of 'Genetic Engineering Assessment 

Committee', consider the following statements:
	 1.	 It has been established under the Ministry of 

Science & Technology.
	 2.	 Its function is to allow the use of genetically 

modified micro-organisms and products in 
agriculture.

		  Which of the statement(s) given above is/are NOT 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 12.	 In the context of the Cyclonic Storm "DAYE", 

consider the following statements:
	 1.	 This was the first cyclonic storm originated 

in the Arabian Sea in the current year, which 
has been named.

	 2.	 This name had been given by Myanmar.
	 3.	 The strong thunderstorms of warm air 

around low 	atmospheric pressure are called 
cyclones.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 13.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 m".kdfVcaèkh; pØokrksa dh mRifÙk 30º mÙkjh 
,oa 30º nf{k.kh v{kka'kksa ds eè; gksrh gSA

	 2.	 Hkweè;js[kk ij ux.; dksfjvksfyl cy ds dkj.k 
pØokrksa dh mRifÙk ugha gksrhA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 14.	^esFkukWy* ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 bls tSo b±èku ds :i esa iz;ksx fd;k tk ldrk gSA

	 2.	 blds ngu ds le; vfèkd dkcZu mRltZu gksus 
ds dkj.k ;g LoPN b±èku ugha ekuk tkrkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2 
	 15.	^iQkWy vkehZokeZ* ds lanHkZ esa] fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g vesfjdk ds m".kdfVcaèkh; vkSj miks".kdfVcaèkh; 
{ks=kksa esa ik;k tkus okyk ,d dhV gSA

	 2.	 Hkkjrh; miegk}hi esa loZizFke dukZVd jkT; esa 
ebZ 2018 esa bldh ekStwnxh ikbZ xbZA

	 3.	 ;g dhV eq[;r% xsgw¡ dh iQly dks uqdlku 
igq¡pkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 16.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 gkWuZfcy ds laj{k.k gsrq Hkkjrh; gkWuZfcy dk 
nLrkos”khdj.k djus ds fy;s flVhtu lkbal igy 
dh 'kq#vkr dh xbZ gSA

	 2.	 Hkkjr esa gkWuZfcy dh 9 iztkfr;k¡ ikbZ tkrh gSa] 
ftuesa ls Hkkjrh; xsz gkWuZfcy] ekykckj xzs gkWuZfcy] 
ekykckj ikbM gkWuZfcy rFkk xzsV gkWuZfcy uked  
pkj iztkfr;k¡ if'peh ?kkV ij ikbZ tkrh gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2 
	 17.	^us'kuy jftLVªh vkWiQ lsDl vkWiQsaMlZ* ds lanHkZ] esa 

fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 blesa 2005 ds ckn ;kSu vijkèkksa ds fy;s nks"kh 
ik, x, yksxksa ds ckjs esa izkIr tkudkfj;ksa dks 
lax`ghr fd;k x;k gSA

	 13.	 Consider the following statements:
	 1.	 The origin of tropical cyclones takes place 

between 30 degree north and 30 degree 
south latitudes.

	 2.	 Cyclones are not originated on the equator 
due to the negligible Coriolis force.

	  	Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 14.	 Consider the following statements in the context 

of 'Methanol':
	 1.	 It can be used as a biofuel.
	 2.	 It is not considered clean fuel due to excess 

carbon emissions during its combustion.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 15.	 In the context of 'Fall Armyworm', consider the 

following statements:
	 1.	 It is an insect found in tropical and 

subtropical areas of America.
	 2.	 It was first found in the Indian subcontinent 

in Karnataka in May, 2018.
	 3.	 The insect mainly affects the wheat crop.
		  Which of the statement(s) given above is/are NOT 

correct?
	 (a)	 1 and 2 only
	 (b)	 3 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3
	 16.	 Consider the following statements:
	 1.	 The Citizen Science Initiative has been 

launched for documentation of Indian 
Hornbill for their protection.

	 2.	 There are nine species of Hornbill found in 
India, out of which four species viz. Indian 
Gray Hornbill, Malabar Gray Hornbill, 
Malabar Pied Hornbill and Great Hornbill 
are found in the Western Ghats.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 17.	 Which of the following statements is/are correct 

in the context of   'National Registry of Sexual 
Offenders'?

	 1.	 The information received concerning the 
people found guilty of sexual offences after 
2005 has been collected under it.
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	 2.	 bldh fuxjkuh dk mÙkjnkf;Ro jk"Vªh; vijkèk 
fjdkWM~lZ C;wjks ij gksxkA

	 3.	 bldh 'kq#vkr djus okyk Hkkjr fo'o dk izFke 
ns'k gSA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	 18.	^Xykscy gaxj baMsDl 2018* ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 blesa 119 ns'kksa esa Hkkjr dk 113ok¡ LFkku gSA

	 2.	 ;g osYVgaxjfgYiQ vkSj daluZ oYMZokbM }kjk 
okf"kZd rkSj ij tkjh fd;k tkus okyk ,d   
la;qDr&leh{kk izdk'ku gSA

	 3.	 blesa Hkq[kejh ds Lrj dh x.kuk djus ds fy;s 
vYiiks"k.k] cPps esa de”kksjh] cPps esa ckSukiu 
,oa cky e`R;q uked pkj eq[; ladsrdksa dk 
mi;ksx fd;k tkrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3
	 19.	^jk"Vªh; fMftVy lapkj uhfr&2018* dh fo'ks"krkvksa ds 

lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 izR;sd ukxfjd dks 50Mbps dh xfr ls 
lkoZHkkSfed czkWMcSaM dusfDVfoVh iznku djukA

	 2.	 lHkh xzke iapk;rksa dks o"kZ 2020 rd 1Gbps 
rFkk 2022 rd 10Gbps dh dusfDVfoVh iznku 
djukA

	 3.	 fMftVy lapkj {ks=k gsrq 100 fcfy;u MkWyj dk 
fuos'k vkdf"kZr djukA

	 4.	 u, ;qx ds dkS'ky fuekZ.k ds fy;s 1 fefy;u 
ekuo 'kfDr dks izf'kf{kr djukA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1, 2 vkSj 4	 (d)	 1, 2, 3 vkSj 4
	20.	^jk"Vªh; O;kolkf;d f'k{kk ,oa izf'k{k.k ifj"kn* ds lanHkZ 

esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bls jk"Vªh; O;kolkf;d izf'k{k.k ifj"kn vkSj 
jk"Vªh; dkS'ky fodkl ,tsalh uked nks ekStwnk 
fu;ked laLFkkuksa dks feykdj LFkkfir djus dh 
;kstuk gSA

	 2.	 ;g nh?kZdkyhu vkSj vYidkyhu nksuksa izdkj ds 
O;kolkf;d f'k{kk ,oa izf'k{k.k ds dk;Z esa yxs 
fudk;ksa ds dkedkt dks fu;fer djsxhA 

	 2.	 The responsibility of its monitoring will be 
on the National Crime Records Bureau.

	 3.	 India is the first country in the world to 
launch it.

		  Code:
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 only	 (d)	 1, 2 and 3

	 18.	 Consider the following statements in the context 
of 'Global Hunger Index 2018':

	 1.	 India has been ranked 113 among 119 
countries.

	 2.	 It is a joint-review publication released 
annually by Welthungerhilfe and Concern 
Worldwide.

	 3.	 In order to calculate the level of 
starvation, four main indicators such as 
undernourishment, child wasting, child 
stunting and child mortality are used.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 19.	 In the context of the features of 'National Digital 
Communications Policy-2018', consider the 
following statements:

	 1.	 To provide universal broadband connectivity 
at a speed of 50 Mbps to every citizen.

	 2.	 To provide 1 GBPS connectivity to all Gram 
Panchayats by 2020 and 10 GBPS by 2022.

	 3.	 To attract $ 100 billion investment in the 
digital communications sector.

	 4.	 To train 1 million manpower for the building 
New age skill.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 and 3 only
	 (c)	 1, 2 and 4 only
	 (d)	 1, 2, 3 and 4

	 20.	 Consider the following statements in the context 
of 'National Council for Vocational Education and 
Training ':

	 1.	 The new institution is to be set up by 
merging two existing regulatory institutions 
named National Council for Vocational 
Education and National Skill Development 
Agency.

	 2.	 It will regulate the functions of the bodies 
involved in long-term and short-term 
Vocational education and training.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 21.	gky esa fuEufyf[kr esa ls fdl jkT; ds vyiQkalks vke 

dks HkkSxksfyd ladsr (th vkbZ) VSx iznku fd;k x;k gS\
	 (a)	 egkjk"Vª	 (b)	 dsjy

	 (c)	 fcgkj	 (d)	 fgekpy izns'k

	22.	fuEufyf[kr dFkuksa ij fopkj dhft;s%	
	 1.	 HkkSxksfyd ladsr (thvkbZ) VSx ,sls mRiknksa dks 

iznku fd;k tkrk gS] ftudk ,d fof'k"V 
HkkSxksfyd ewy {ks=k gksrk gSA

	 2.	 izFke ckj 2004 esa HkkSxksfyd ladsr (thvkbZ) 
VSx t;iqj dh Cyw ikWVjh dks iznku fd;k x;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2 
	 23.	^jk"Vªh; bysDVªkWfuDl uhfr 2018* ds elkSns ds y{;ksa 

ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 o"kZ 2025 rd bysDVªkWfuDl ds ?kjsyw fofuekZ.k 

{ks=k esa 400 fcfy;u MkWyj dk dkjksckj djukA

	 2.	 o"kZ 2025 rd 190 fcfy;u MkWyj ewY; ds 1 
fcfy;u eksckby gSaMlsV dk fu;kZr djukA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 24.	^bafM;k iQkWj áweSfuVh* igy ds lanHkZ eas] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g dsanzh; ekuo lalkèku fodkl ea=kky; dh 

igy gSA

	 2.	 bldk mn~ns'; ekuork ds izfr xkaèkhth dh lsokvksa 
dks lEekfur djuk gSA

	 3.	 ;g vxys ,d lky rd pyus okys egkRek xkaèkh 
dh 150oha t;arh lekjksg ds ,d fgLls ds :i 
esa 'kq: dh xbZ gSA	

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 25.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 1.	 fdlh f”kys dk uke cnyus ds izLrko dks loZizFke 

lacaf/r jkT; dSfcusV ls ea”kwjh feyuk vko';d gSA

	 2.	 fdlh f”kys dk uke cnyus ds izLrko dks lacaf/r 
jkT; dSfcusV ls ikl gksus ds ckn jkT;iky dh 
lgefr feyuk vko';d ugha gSA

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 21.	 Which of the following states has recently been 

granted the Geographical Indication (GI) tag of 
Alphonso Mango?

	 (a)	 Maharashtra	 (b)	 Kerala
	 (c)	 Bihar	 (d)	 Himachal Pradesh
	 22.	 Consider the following statements:
	 1.	 The Geographical Indication (GI) tag 

is granted to the products which have a 
specific geographic origin area.

	 2.	 The Geographical Indication (GI) tag was 
granted for the first time to the Blue Pottery 
of Jaipur in 2004.

		  Which of the statement(s) given above is/are NOT 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 23.	 Consider the following statements in the context 

of the goals of Draft of 'National Electronics 
Policy-2018':

	 1.	 Doing business of $ 400 billion in 
the domestic manufacturing sector of 
electronics by 2025

	 2.	 Exporting 1 billion mobile handsets worth $ 
190 billion by the year 2025.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 24.	 Consider the following statements in the context 

of the 'India for Humanity' initiative:
	 1.	 It is the initiative of the Ministry of Human 

Resource Development.
	 2.	 Its objective is to honour the services of 

Gandhi towards humanity.
	 3.	 It has been initiated as a part of the 150th 

birth anniversary celebration of Mahatma 
Gandhi being celebrated countrywide 
during next one year.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 25.	 Which of the following statement(s) is/are correct?
	 1.	 It is necessary to get approval from the 

concerned state cabinet first for the proposal 
of changing the name of a district.

	 2.	 It is not necessary to get the assent of the 
Governor after the proposal to change 
the name of a district is passed from the 
concerned state cabinet.
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	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 26.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\	
	 1.	 izR;sd ns'k dk ekud le; v{kka'k js[kkvksa ds 

varj ds vkèkkj ij ekik tkrk gSA
	 2.	 Hkkjr esa vkfèkdkfjd ekud le; dk fuèkkZj.k 

jk"Vªh; HkkSfrdh iz;ksx'kkyk djrh gSA
	 3.	 Hkkjrh; ekud le; dk fuèkkZj.k mÙkj izns'k ds 

fe”kkZiqj ls xq”kjus okyh 82º30' iwohZ ns'kkarj js[kk 
dks dsanz esa j[kdj fd;k tkrk gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2  vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 27.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 jk"Vªh; tSo b±èku uhfr 2018 esa o"kZ 2030 rd 

isVªksy esa 20 izfr'kr ,FksukWy ds feJ.k dk y{;  
j[kk x;k gSA

	 2.	 isVªksy esa ,FksukWy ds feJ.k ls thok'e b±/u dh 
rqyuk esa xzhugkml xSlksa dk mRltZu de gksrk 
gSA

	 3.	 vksfM'kk ds ckjx<+ f”kys esa f}rh; tsujs'ku ,FksukWy 
ck;ks&fjiQkbujh dh uhao j[kh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 28.	^l'kL=k cy (fo'ks"kkfèkdkj) vfèkfu;e 1958* ds lanHkZ 

esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 blds rgr dsanz ljdkj jk"Vªifr dh fjiksVZ ds 

vkèkkj ij fdlh jkT; ;k {ks=k dks ^v'kkar {ks=k* 
?kksf"kr dj ldrh gSA

	 2.	 ;g 1990 ls ysg&yík[k {ks=k dks NksM+dj 
tEew&d'ehj esa ykxw gSA

	 3.	 blds rgr gky esa v#.kkpy izns'k ds frji] 
pkaxykax vkSj yksaxfnax f”kyksa dks 1 vDVwcj] 2018 
ls 31 ekpZ] 2019 rd ds fy;s v'kkar {ks=k 
?kksf"kr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	29.	^ektqyh }hi* ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 ;gk¡ gky esa Hkkjrh; varnsZ'kh; tyekxZ izkfèkdj.k 

}kjk jksy vkWu&jksy vkWiQ (jks&jks) lqfoèkk 'kq: 
dh xbZ gSA

		   Code:
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 26.	 Which of the following statement(s) is/are NOT 

correct?
	 1.	 The standard time of each country is 

measured on the basis of the difference 
between latitudes.

	 2.	 National Physical Laboratory determines 
the official standard time in India.

	 3.	 Indian Standard Time is determined on the 
basis of 82°30'E longitude passing through 
Mirzapur in Uttar Pradesh.

	  Code:
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 27.	 Consider the following statements:
	 1.	 National Bio-fuel Policy-2018 focuses on 

20 percent ethanol blending in petrol by 
2030.

	 2.	 The blending of ethanol in petrol reduces 
the emission of greenhouse gases in 
comparison of bio-fuel.

	 3.	 The foundation stone of 2G Ethanol Bio-
Refinery has been laid in Bargarh district of 
Odisha.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 28.	 Consider the following statements in the context 

of 'Armed Forces (Special Powers) Act 1958':
	 1.	 Under it, the Central Government can 

declare any state or region as a 'disturbed 
area' on the basis of the report by the 
President.

	 2.	 It is enforced in Jammu and Kashmir except 
for Leh-Ladakh region since 1990.

	 3.	 Recently Tirap, Changlang and Longding 
districts of Arunachal Pradesh were 
declared as ‘disturbed areas’ for the period 
from October 1, 2018 to March 31, 2019 
under this Act.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 29.	 Consider the following statements in the context 

of 'Majuli Island':
	 1.	 The Roll-on/Roll-off (Ro-Ro) facility has 

been introduced here by Inland Waterways 
Authority of India recently.
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	 2.	 ;g if'pe caxky jkT; esa xaxk unh ds eè; esa 
fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2 
	30.	gky esa dsanzh; eaf=keaMy us eè;izns'k ds fdl f”kys esa 

jk"Vªh; ekufld LokLF; iquokZl laLFkku [kksys tkus dh 
ea”kwjh iznku dh gS\	

	 (a)	 bankSj 	 (b)	 flgksj

	 (c)	 Xokfy;j 	 (d)	 mTtSu
	31.	^oSf'od dkS'ky ikdZ* ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 eè; izns'k esa bldh LFkkiuk gsrq gky esa Hkkjr 

ljdkj ,oa ,f'k;kbZ fodkl cSad ds chp 150 
fefy;u MkWyj ds ,d Í.k le>kSrs ij gLrk{kj 
fd;s x, gSaA

	 2.	 ;g Hkkjr dk f}rh; cgq&dkS'ky ikdZ gksxkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	32.	^nf{k.k Hkkjr fgUnh izpkj lHkk* ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 bldh LFkkiuk egkRek xkaèkh us dh FkhA
	 2.	 blds izFke izpkjd xksiky Ñ".k xks[kys FksA
	 3.	 gky esa bldh LFkkiuk ds 100 o"kZ iwjs gksus ij 

ubZ fnYyh esa 'krkCnh lekjksg vk;ksftr fd;k 
x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 33.	^jsy èkjksgj fMftVyhdj.k ifj;kstuk* ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bldh 'kq#vkr Hkkjrh; laLÑfr ea=kky; }kjk xwxy 

vkV~lZ ,aM dYpj ds lg;ksx ls dh xbZ gSA
	 2.	 bldh 'kq#vkr dk mn~ns'; jk"Vªh; vkSj varjkZ"Vªh; 

n'kZdksa dks Hkkjr dh jsy èkjksgjksa ls ifjfpr djkuk 
gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	34.	^Å¡V dMky iqy* ds lanHkZ esa] fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 10oha 'krkCnh ds bl izfrf"Br iqy dh lajpuk 

Å¡V ds dwcM+ ds leku gSA
	 2.	 ;g Hkkjr esa My >hy ds chp esa fLFkr gSA

	 2.	 This is located in the middle of the river 
Gang in West Bengal.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 30.	 In which of the following districts of Madhya 

Pradesh the Union Cabinet has approved the 
establishment of National Institute of Mental 
Health Rehabilitation recently?

	 (a)	 Indore	 (b)	 Sehore
	 (c)	 Gwalior	 (d)	 Ujjain
	 31.	 Consider the following statements in the context 

of 'Global Skill Park':
	 1.	 For its establishment in Madhya Pradesh, a 

loan agreement of $ 150 million has been 
signed for between the Government of India 
and the Asian Development Bank recently.

	 2.	 This will be the second multi-skill park of 
India.

		  Which of the statement(s) given above is/are NOT 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 32.	 Consider the following statements in the context 

of "Dakshina Bharath Hindi Prachar Sabha":
	 1.	 It was founded by Mahatma Gandhi.
	 2.	 The first campaigner of this Sabha was 

Gopal Krishna Gokhale.
	 3.	 Recently a centenary celebration was 

organized in New Delhi on the completion 
of 100 years of its establishment.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 33.	 Consider the following statements in the context 

of 'Rail Heritage Digitization Project':
	 1.	 It has been launched by the Ministry of 

Culture in collaboration with Google Arts 
& Culture.

	 2.	 Its aim is to showcase India’s rail heritage to 
the national and international audience.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 34.	 Consider the following statements in the context 

of 'Oont Kadal Bridge':
	 1.	 The structure of this prestigious bridge of 

10th century is like the hump of a camel.
	 2.	 It is located in the middle of Dal Lake in India.
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	 3.	 Hkkjrh; jk"Vªh; dyk ,oa lkaLÑfrd èkjksgj VªLV 
}kjk Úk¡l dh enn ls bldk iqu#¼kj djus dh 
;kstuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	35.	^Hkkjrh; jk"Vªh; dyk ,oa lkaLÑfrd èkjksgj VªLV* ds 

lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g lkslk;Vh iathdj.k vfèkfu;e] 1860 ds rgr 

iathÑr ,d xSj&ykHkdkjh èkekZFkZ laxBu gSA

	 2.	 o"kZ 2000 esa bldh LFkkiuk Hkkjr esa fojklr 
tkx:drk vkSj laj{k.k dk usr`Ro djus ds 
n`f"Vdks.k ls ubZ fnYyh esa dh xbZ FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	36.	^,si.k* ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 ;g HkfDr dyk ds :i esa mÙkjk[kaM ds dqekÅ¡ 

{ks=k esa cuk;k tkus okyk ,d fHkfÙkfp=k gSA

	 2.	 blesa èkkfeZd :iksa] nksgjko okyh T;kferh; 
vkÑfr;ksa vkSj izÑfr izsfjr rÙoksa dks cukus gsrq 
dsoy yky o liQsn jaxksa dk iz;ksx fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	37.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 yksukj >hy] egkjk"Vª ds cqy<k.kk f”kys esa fLFkr 

ehBs ikuh dh ,d ØsVj >hy gSA

	 2.	 ekYis chp ,d Ñf=ke canjxkg gS] tks dukZVd 
esa mMqih ds if'pe esa fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	38.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 1.	 rhljs iSjk ,f'k;kbZ xsEl dk vk;kstu baMksusf'k;k 

ds tdkrkZ esa fd;k x;kA

	 2.	 rhljs iSjk ,f'k;kbZ xsEl dk 'kqHkadj ̂ ekseks* uked 
cksaMksy bZxy FkkA

	 3.	 rhljs iSjk ,f'k;kbZ xsEl esa 15 Lo.kZ] 24 jtr 
vkSj 33 dkaL; indksa ds lkFk Hkkjr ind rkfydk 
esa f}rh; LFkku ij jgkA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3

	 3.	 Indian National Trust for Art and Cultural 
Heritage plans to restore it with the help of 
France.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 35.	 In the context of the 'Indian National Trust for Art 

and Cultural Heritage’, consider the following 
statements :

	 1.	 It is a non-profit charitable organization 
registered under the Society Registration 
Act, 1860.

	 2.	 With the vision to lead the heritage 
awareness and conservation in India, it was 
established in New Delhi in 2000.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 36.	 Consider the following statements in the context 

of  'Aipan Art':
	 1.	 It is graffiti (mural painting) practised in the 

Kumaon area of Uttarakhand as a devotional 
art.

	 2.	 Only red and white colours are used to draw 
religious forms, repetitive geometric shapes 
and nature-inspired elements.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 37.	 Consider the following statements:
	 1.	 Lonar Lake is a freshwater crater lake located 

in the Buldhana district of Maharashtra.
	 2.	 Malpe Beach is an artificial harbour, located 

in the west side of Udupi in Karnataka.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 38.	 Which of the following statement(s) is/are correct?
	 1.	 The third Asian Para Games were held in 

Jakarta, Indonesia.
	 2.	 The mascot of the third Asian Para Games 

was the Bondol Eagle, called 'Momo'.
	 3.	 India holds second place in the medal 

tally with 15 gold, 24 silver and 33 bronze 
medals in the third Asian Para Games.

		   Code:
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3
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	39.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 2018 ds xzh"edkyhu ;qok vksyafid [ksyksa dk 
vk;kstu vts±Vhuk dh jkt/kuh C;wul vk;lZ esa 
fd;k x;kA

	 2.	 2018 ds xzh"edkyhu ;qok vksyafid [ksyksa esa 
Hkkjr us dqy 13 ind gkfly fd;sA 

	 3.	 2018 ds xzh"edkyhu ;qok vksyafid [ksyksa esa 32 
[ksyksa dks 'kkfey fd;k x;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	40.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ykWMZ osys”kyh dh lgk;d lafèk ds vuq:i vkfJr 
lsuk j[kus okyk gSnjkckn izFke jkT; FkkA

	 2.	 okjsu gsfLVaXl us dq'kklu ds vkèkkj ij 1856 esa 
voèk dks vaxzs”kh lkezkT; esa feyk;k FkkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 41.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 cgknqj 'kkg f}rh; vafre eqxy 'kkld FkkA

	 2.	 eqxy 'kkld vdcj f}rh; us jktk jkeeksgu jk; 
dks ^jktk* dh mikfèk nh FkhA

	 3.	 gSnjvyh us fMaMhxqy esa ,d vkèkqfud 'kL=kkxkj 
dh LFkkiuk dh FkhA 

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	42.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 xq# vtZu us ve`rlj dh LFkkiuk dh FkhA

	 2.	 xq# jkenkl us ^vkfnxzaFk* dh jpuk dh FkhA

	 3.	 xq# ukud ckcj ,oa gqek;w¡ ds ledkyhu FksA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	43.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 1.	 ykWMZ dkuZokfyl Hkkjr esa ukxfjd lsok dk 

tUenkrk FkkA

	 2.	 ykWMZ MygkS”kh us 1800 bZ- esa dydÙkk esa iQksVZ 
fofy;e dkWyst dh LFkkiuk dh FkhA

	 3.	 ykMZ osys”kyh ds 'kkludky esa Hkkjr esa jsy lsok 
dh 'kq#vkr gqbZA

	 39.	 Consider the following statements:
	 1.	 Summer Youth Olympic Games 2018 were 

organized in Buenos Aires, the capital of 
Argentina.

	 2.	 India has won total 13 medals in the Summer 
Youth Olympics Games 2018.

	 3.	 32 games were included in the Summer 
Youth Olympics Games 2018.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 40.	 Consider the following statements:
	 1.	 Hyderabad was the first state who accepted 

resident army under Subsidiary Alliance of 
Lord Wellesley.

	 2.	 Warren Hastings annexed Awadh into the 
English Empire in 1856 on the pretext of 
misgovernance.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 41.	 Which of the following statement(s) is / are 

correct?
	 1.	 Bahadur Shah II was the last Mughal 

Emperor.
	 2.	 Mughal Emperor Akbar II has conferred the 

title of 'Raja' to Raja Ram Mohan Roy.
	 3.	 Haidar Ali established a modern arsenal in 

Dindigul.
		  Code:
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1and 3 only	 (d)	 1, 2 and 3
	 42.	 Consider the following statements:
	 1.	 Guru Arjan had established Amritsar.
	 2.	 Guru Ramdas has composed the 'Adi 

Granth'.
	 3.	 Guru Nanak was contemporary of Babur 

and Humayun.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 43.	 Which of the following statement(s) is/are NOT 

correct?
	 1.	 Lord Cornwallis was the founder of Civil 

Services in India.
	 2.	 Lord Dalhousie established Fort William 

College in Calcutta in 1800 AD.
	 3.	 The Rail service was started in India during 

the reign of Lord Wellesley.
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	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	44.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 okjsu gsfLVaXl us dydÙkk enjlk dh LFkkiuk 
dh FkhA

	 2.	 pkYlZ oqM fMLiSp dks Hkkjrh; f'k{kk dk eSXukdkVkZ 
dgk tkrk gSA

	 3.	 tksukFku Madu us fganw dkuwu ,oa n'kZu ds vè;;u 
gsrq okjk.klh esa ,d laLÑr dkWyst dh LFkkiuk 
dh FkhA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	45.	^jktk jkeeksgu jk;* ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 1825 bZ- esa bUgksaus osnkar dkWyst dh LFkkiuk dh 
FkhA

	 2.	 1820 bZ- esa bUgksaus czã lHkk dh LFkkiuk dh FkhA

	 3.	 1828 bZ- esa bUgksaus ̂ izhlsIV~l vkWiQ thll* uked 
iqLrd dh jpuk dh FkhA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	46.	^Lons'kh vkanksyu* ds lanHkZ esa] fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 bldh 'kq#vkr caxky foHkktu ds fojksèkLo:i 
gqbZ FkhA

	 2.	 blesa 'kgjh eè;eoxhZ; efgykvksa }kjk Hkkxhnkjh 
djuk bldh ,d ubZ fo'ks"krk FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	47.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vaxzs”kh 'kklu }kjk caxky foHkktu dks 5 vDVwcj] 
1905 bZ- dks ykxw fd;k x;k FkkA

	 2.	 caxky foHkktu ds nkSjku gh nsosUnzukFk VSxksj us 
^vkekj lksukj ckaXyk* uked izfl¼ xhr dh jpuk 
dh FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	  Code:
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 44.	 Consider the following statements:
	 1.	 Warren Hastings established the Calcutta 

Madrasah.
	 2.	 Charles Wood Dispatch is called the Magna 

Carta of Indian Education.
	 3.	 Jonathan Duncan had established a Sanskrit 

College in Varanasi for the study of Hindu 
law and philosophy.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 3 only
	 (b)	 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
	 45.	 Consider the following statements in the context 

of 'Raja Rammohan Roy':
	 1.	 He founded Vedanta College in 1825 AD.
	 2.	 He established Brahma Sabha in 1820 AD.
	 3.	 He wrote a book titled 'Precepts of Jesus' in 

1828 AD.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 46.	 Consider the following statements in the context 

of 'Swadeshi Movement':
	 1.	 It was started against the Partition of Bengal.
	 2.	 The participation of women from the urban 

middle class was a new feature of this 
movement.

 		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 47.	 Consider the following statements:
	 1.	 The Partition of Bengal was enacted by the 

British government on 5th October, 1905 
AD.

	 2.	 Devendranath Tagore composed a famous 
song 'Amar Sonar Bangla' during the 
Partition of Bengal.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	48.	^y[kuÅ vfèkos'ku 1916* ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bldh vè;{krk enu eksgu ekyoh; us dh FkhA

	 2.	 blesa dkWUxzsl us igyh ckj eqlyekuksa ds fy;s 
i`Fkd~ fuokZpu dh ekax dks vkSipkfjd rkSj  ij 
Lohdkj dj fy;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 49.	^fØIl fe'ku* ds lanHkZ esa] fuEufyf[kr dFkuksa esa ls 

dkSu&lk@ls lgh gS@gSa\
	 1.	 blds }kjk Hkkjr dks Mksfefu;u LVsV dk ntkZ nsus 

dh ?kks"k.kk dh xbZ FkhA

	 2.	 blds rgr Hkkjrh;ksa ds fuokZpu fudk; }kjk 
Hkkjrh;ksa ds fy;s lafoèkku cukus dh ?kks"k.kk dh 
xbZ FkhA

	 3.	 tokgjyky usg: us bls ^iksLV MsVsM psd* dh 
laKk nh FkhA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	50.	^dSfcusV fe'ku* ds lanHkZ esa] fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 blus ?kks"k.kk dh fd Hkkjr ,d la?k gksxk] ftlesa 

fczfV'k Hkkjr ds izkar rFkk nslh jkT; 'kkfey gksaxsA

	 2.	 blus ?kks"k.kk dh fd la?kh; fo"k; dks NksM+dj 
'ks"k fo"k; rFkk vof'k"V 'kfDr;k¡ izkarksa esa fufgr 
gksaxhA

	 3.	 blus vyx ikfdLrku ds xBu dh ckr dks 
Lohdkj dj fy;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	51.	lcjhekyk eafnj fookn ij loksZPp U;k;ky; ds fu.kZ; 

ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 loksZPp U;k;ky; us lHkh vk;q oxZ dh efgykvksa 

dks lcjhekyk eafnj ifjlj esa izos'k dh vuqefr 
iznku dh gSA

	 2.	 loksZPp U;k;ky; us viuk ;g fu.kZ; bafM;u ;ax 
ykW;lZ cuke dsjy jkT; okn esa fn;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 48.	 Consider the following statements in the contest 
of 'Lucknow Session 1916':

	 1.	 It was presided by Madan Mohan Malaviya.
	 2.	 For the first time Congress had formally 

accepted the demand for a separate 
electorate for Muslims in this session.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 49.	 Which of the following statement(s) is/are correct 
in the context of 'Cripps Mission'?

	 1.	 Under this mission, India was to be given 
Dominion status.

	 2.	 The declaration of making a constitution for 
Indians was announced by the election body 
of India under it.

	 3.	 Jawaharlal Nehru called it a 'Post-dated 
cheque'.

		  Code:
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 50.	 Consider the following statements in the context 
of 'Cabinet Mission':

	 1.	 It declared India will be a Union, in which 
the provinces of British India and the Native 
States would be included.

	 2.	 It declared that the remaining subjects and 
residuary powers except the federal subject 
would be vested in the provinces.

	 3.	 It accepted the formation of separate 
Pakistan.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 51.	 With reference to the decision of the Supreme 
Court on the Sabarimala Temple dispute consider 
the following statements:

	 1.	 The Supreme Court has allowed women of 
all age groups to enter Sabarimala Temple 
premises.

	 2.	 The Supreme Court has given its decision 
in the case of Indian Young Lawyers vs. the 
State of Kerala.

	  	Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2



14lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 011-47532596, 8750187501  (+91) 8130392354, 8130392356
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 52.	u, ^;w-,l-&esfDldks&dukMk le>kSrs* ds lanHkZ eas] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g ewyr% ukÝVk dk nwljk laLdj.k gSA

	 2.	 ;g le>kSrk dukMk vkSj esfDldks dks vesfjdk  
(;w-,l-) }kjk yxk, x, laj{k.koknh 'kqYdksa ls 
fuiVus esa enn djsxkA

	 3.	 bl le>kSrs }kjk rhuksa ns'kksa ds chp eky&<qykbZ 
ij yxus okys dj dks lekIr dj fn;k x;k rFkk 
VªsMekdZ] isVsaV o djsalh lacaèkh fu;eksa dks lqxe 
cuk;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 1, 2 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 3
	 53.	^,f'k;kbZ 'ksj* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 ;s jktLFkku ds fxj oU;tho vHk;kj.; esa ik, 

tkrs gSaA

	 2.	 bUgsa vkbZ;wlh,u dh jsMfyLV esa yqIrizk; Js.kh 
ds varxZr j[kk x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 54.	^#eh Vw* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g ;kSu mRihM+u vkSj geys ds f[kykiQ ,d 

varjkZ"Vªh; vkanksyu gSA

	 2.	 bldh 'kq#vkr vDVwcj&2017 esa gkWyhoqM ds 
cM+s fiQYe fuekZrk gkohZ okbuLVhu ij ;kSu 
mRihM+u vkSj cykRdkj ds vkjksi yxus ds ckn 
gqbZA

	 3.	 bl vkanksyu dks Vkbe if=kdk }kjk ^ilZu vkWiQ 
n bZ;j* ds fy;s Hkh pquk x;k FkkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	 55.	^izèkkuea=kh tu vkjksX; ;kstuk* ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 23 flracj] 2018 dks jk¡ph] >kj[kaM esa fo'o 

dh bl lcls cM+h ;kstuk dh 'kq#vkr dh xbZA

	 2.	 blesa dSalj vkSj ân; jksx tSlh xaHkhj chekfj;ksa 
lfgr yxHkx 1300 chekfj;ksa dks 'kkfey fd;k 
x;k gSA

	 3.	 bl ;kstuk ds rgr izR;sd ifjokj dks gj o"kZ 
` 5 yk[k dk LokLF; chek iznku fd;k tk,xkA

	 4.	 ;g ;kstuk isijysl rFkk dS'kysl gksxhA

	 52.	 Consider the following statements in the context 
of the new ‘US-Mexico-Canada agreement’:

	 1.	 This is basically another version of NAFTA.
	 2.	 This agreement will help Canada and 

Mexico to deal with the protectionist duties 
imposed by America (U.S.).

	 3.	 This agreement has abolished the taxes 
imposed on freight among these countries, 
and facilitated the trademark, patent and 
currency related regulations.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1, 2 and 3
	 (c)	 2 and 3 only	 (d)	 3 only

	 53.	 Consider the following statements in the context 
of ‘Asian Lions’:

	 1.	 They are found in the Gir Wildlife Sanctuary 
of Rajasthan.

	 2.	 They are listed under the endangered 
category of IUCN Red List .

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 54.	 Consider the following statements in the context 
of '#Me Too':

	 1.	 It is an international movement against 
sexual harassment and assault.

	 2.	 It was initiated in October 2017 after the film 
producer Harvey Weinstein of Hollywood 
was accused of sexual harassment and rape.

	 3.	 This movement was also chosen by TIME 
Magazine for 'Person of the Year'.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 2 only	 (d)	 1, 2 and 3

	 55.	 Consider the following statements in the context 
of 'Prime Minister Jan Arogya Yojana':

	 1.	 This largest scheme of the world was 
launched in Ranchi, Jharkhand on 
September 23, 2018.

	 2.	 It covers about 1300 diseases, including 
serious diseases like cancer and heart 
disease.

	 3.	 Under this scheme, every family will be 
provided health insurance of Rs. 5 lakh 
every year.

	 4.	 This scheme will be paperless and cashless.



15lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 011-47532596, 8750187501  (+91) 8130392354, 8130392356
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2, 3 vkSj 4
	 (c)	 dsoy 1, 2 vkSj 3	 (d)	 1, 2, 3 vkSj 4
	 56.	^èku foèks;d* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 bls dsoy yksdlHkk esa gh izLrqr fd;k tkrk gSA

	 2.	 dksbZ foèks;d èku foèks;d gS ;k ugha] bldk 
fu.kZ; jk"Vªifr }kjk fd;k tkrk gSA

	 3.	 vkèkkj vfèkfu;e] 2016 dks Hkkjrh; laln }kjk 
,d èku foèks;d ds :i esa ikfjr fd;k x;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	 57.	jkT;iky ds lafoèkkuiznÙk foosdkfèkdkj ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%	
	 1.	 blds varxZr eq[;ea=kh dk pquko o mls inP;qr 

djus ds vykok vU; vfèkdkj 'kkfey gSaA

	 2.	 lafoèkku ds vuqPNsn&371 ls 371 (j) ds varxZr 
jkT;iky ds dqN fo'ks"k mÙkjnkf;Ro funsZf'kr gSaA

	 3.	 fo'ks"k mÙkjnkf;Ro ds ekeyksa esa jkT;iky 
eaf=kifj"kn ls lykg ysus vFkok fdlh yh xbZ 
lykg dks ekuus gsrq ckè; ugha gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1, 2 vkSj 3
	 (d)	 mi;qZDr esa ls dksbZ ughaA
	 58.	isM U;w”k ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 Hkkjrh; izsl ifj"kn ds vuqlkj] ;g U;w”k fdlh 

mEehnokj ds i{k esa udn ;k fdlh ewY; ds cnys 
lekpkj ;k ys[k ds izdk'ku dks lanfHkZr djrh gSA

	 2.	 vkSipkfjd :i ls ;g U;w”k vHkh rd pqukoh 
vijkèk dh Js.kh esa 'kkfey ugha gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 59.	dkWiksZjsV lkekftd mÙkjnkf;Ro ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g O;kikfjd ;k vkS|ksfxd lewg dh Lo&fu;af=kr 

igy gSA

	 2.	 daiuh vfèkfu;e] 2013 esa la'kksèku ds ckn Hkkjr 
dkWiksZjsV lkekftd mÙkjnkf;Ro dks vfuok;Z cukus 
okyk nqfu;k dk nwljk ns'k cukA

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2, 3 and 4 only
	 (c)	 1, 2 and 3 only	 (d)	 1, 2, 3 and 4

	 56.	 Consider the following statements in the context 
of the 'Money Bill':

	 1.	 It is only presented in the Lok Sabha.
	 2.	 Whether a bill is a money bill or not, is 

decided by the President.
	 3.	 The Aadhaar Act, 2016 was passed by the 

Parliament of India as a money bill.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 3 only
	 (b)	 2 and 3 only
	 (c)	 2 only
	 (d)	 1, 2 and 3

	 57.	 Consider the following statements in the context 
of the discretionary power of the Governor 
provided by the Constitution:

	 1.	 It includes the other rights apart from the 
election and removal of Chief Minister.

	 2.	 Under Article 371 to 371 (j) of the 
Constitution, some special responsibility of 
the governor is directed.

	 3.	  In the case of special responsibility, the 
governor is not bound to consult the Council 
of Ministers or to accept any advice given to 
him.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 1, 2 and 3	 (d)	 None of the above.

	 58.	 Consider the following statements in the context  
the ‘Paid News’:

	 1.	  According to the Indian Press Council, this 
news refers to the publication of news or 
articles in exchange for cash or any value in 
favour of a candidate.

	 2.	 Formally this news is not included in the 
electoral offence/crime category yet.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 59.	 Consider the following statements in the context 
of Corporate Social Responsibility:

	 1.	 It is a self-controlled initiative of a business 
or industrial group.

	 2.	 India became the second country of the 
world to make corporate social liability 
mandatory after amending the Companies 
Act, 2013.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 60.	Hkkjrh; izfrLi¼kZ vk;ksx ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 bl vk;ksx dks izklafxd cukus ds mn~ns'; ls 

izfrLi¼kZ vfèkfu;e leh{kk lfefr dk xBu 
fd;k x;k gS] ftldk vè;{k dkWiksZjsV ekeyksa ds 
ea=kky; ds lfpo dks fu;qDr fd;k x;k gSA 

	 2.	 ;g ,d laoSèkkfud fudk; gSA

	 3.	 bldk xBu 14 vDVwcj] 2003 dks gqvk FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 61.	^Ý;wpj vkWiQ odZ bu bafM;k* fjiksVZ ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g fjiksVZ fo'o vkfFkZd eap }kjk vkWCtoZj fjlpZ 

iQkmaMs'ku (vksvkj,iQ) ds lg;ksx ls is'k dh  
xbZ gSA 

	 2.	 bl fjiksVZ ds vuqlkj Hkkjr esa dke dh 
vfuf'prrk gS] ysfdu ns'k esa Hkjiwj volj Hkh 
mifLFkr gSaA 

	 3.	 Hkkjr eas mPpre lao`f¼ okyh daifu;k¡ iq#"kksa dks 
HkrhZ djuk ilan djrh gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2 vkSj 3

	 (c)	 1, 2 vkSj 3
	 (d)	 mi;qZDr esa ls dksbZ ughaA
	 62.	izorZu funs'kky; ds lanHkZ eas fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ;g Hkkjr ds jktLo foHkkx] foÙk ea=kky; ds 

vèkhu ,d fo'ks"k foÙkh; tk¡p ,tsalh gSA

	 2.	 gky esa blus èku 'kksèku ds ekeys esa 50 djksM+ 
ls ”;knk dh laifÙk dks èku 'kksèku fuokj.k 
vfèkfu;e (ih,e,y,) ds rgr ”kCr dj 
fy;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls vlR; gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 63.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 la;qDr jk"Vª }kjk 15 vDVwcj dks xzkeh.k efgykvksa 

ds varjkZ"Vªh; fnol ds :i eas euk;k tkrk gSA

	 2.	 Hkkjr esa ;g ^jk"Vªh; efgyk fdlku fnol* ds 
:i esa euk;k tkrk gSA

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 60.	 Consider the following statements in the context   
of the Competition Commission of India:

	 1.	 With the aim of making relavant this 
commission, the Competition Act Review 
Committee has been constituted under the 
chairmanship of Secretary of the Ministry 
of Corporate Affairs.

	 2.	 It is a constitutional body.
	 3.	 It was constituted on 14th October, 2003.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 61.	 Consider the following statements in the context 
of the 'Future of Work in India' Report:

	 1.	 This report has been presented by the World 
Economic Forum in association with the 
Observer Research Foundation (ORF).

	 2.	 According to this report, there is an 
uncertainty of work in India, but there are 
plenty of opportunities in the country.

	 3.	 Companies with the highest growth in India 
prefer men for recruitment.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1, 2 and 3	 (d)	 None of the above.

	 62.	 Consider the following statements in the context 
of the Directorate of Enforcement:

	 1.	 It is a specialised financial investigation 
agency under the Department of Revenue, 
Ministry of Finance of India.

	 2.	 Recently, in case of money laundering it 
has confiscated property worth more than 
50 crores under the Prevention of Money 
Laundering Act (PMLA).

		  Which of the statement(s) given above is/are NOT 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 63.	 Consider the following statements:
	 1.	 October 15th is celebrated by the United 

Nations as International Day for Rural 
Women.

	 2.	 In India, it is celebrated as 'National Women 
Farmer's Day'.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 64.	foÙkh; lekos'ku lwpdkad ds lanHkZ eas fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ljdkj }kjk lkoZtfud {ks=k ds cSadksa ds lkFk 

okf"kZd leh{kk cSBd ds ckn bl lwpdkad dks 
ykWUp fd;k x;kA

	 2.	 foÙk ea=kky; dk foÙkh; lsok foHkkx ,d okf"kZd 
foÙkh; lekos'ku lwpdkad tkjh djsxkA

	 3.	 ;g lwpdkad tuojh 2019 esa tkjh fd;k tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3 
	 65.	fo'o O;kikj laxBu ds lanHkZ eas fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 gky esa bl laxBu us oSf'od O;kikj o`f¼ ds 

iwokZuqeku dks ?kVk fn;k gSA

	 2.	 ;g fo'o eas O;kikj lacaèkh vojksèkksa dks nwj dj 
oSf'od O;kikj dks c<+kok nsus okyk ,d 
varj&ljdkjh laxBu gSA

	 3.	 orZeku esa blds 164 lnL; ns'k gaS ,oa bldk 
eq[;ky; U;w;kWdZ esa gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 66.	gky gh esa Hkkjr ljdkj us fuEufyf[kr esa ls fdl cSad 

ds lkFk vklsZfud] ÝyksjkbM vkSj yo.krk ls izHkkfor 
if'pe caxky ds rhu f”kyksa esa fujarj lqjf{kr is;ty 
miyCèk djkus gsrq 240 fefy;u MkWyj ds ½.k le>kSrs 
ij gLrk{kj fd;s gSa\

	 (a)	 ,f'k;kbZ fodkl cSad

	 (b)	 fczDl cSad
	 (c)	 bafM;k iksLV isesaV cSad
	 (d)	 fo'o cSad
	 67.	,f'k;kbZ fodkl cSad ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 bldh LFkkiuk ,f'k;k vkSj iz'kkar {ks=kksa esa vkfFkZd 

fodkl dks izksRlkgu nsus ds mn~ns'; ls 1966 esa  
dh xbZ FkhA

	 2.	 bldk eq[;ky; tsusok esa gSA

	 3.	 bl cSad esa ernku O;oLFkk fo'o cSad ds vuq:i 
gS] tgk¡ er foHkktu lnL; jk"Vªksa dh iwath ds 
vuqikr esa gksrk gSA

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 64.	 Consider the following statements in the context 
of the Financial Inclusion Index:

	 1.	 The index was launched by the Government 
after the annual review meeting with public 
sector banks.

	 2.	 Department of Financial Services, Ministry 
of Finance will issue an annual Financial 
Inclusion Index.

	 3.	 This index will be released in January 2019.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 65.	 Consider the following statements in the context 
of the World Trade Organization:

	 1.	 The organization has recently downgrades 
the prediction of global trade growth.

	 2.	 It is an intergovernmental organization 
promoting global trade by removing trade 
barriers in the world.

	 3.	 Currently it has 164 member countries and 
its headquarters is located in New York.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 66.	 Recently from which of the following banks 
Government of India has signed a $ 240 million 
loan agreement for providing safe drinking water 
in three districts of West Bengal affected by 
arsenic, fluoride and salinity?

	 (a)	 Asian Development Bank
	 (b)	 BRICS Bank
	 (c)	 India Post Payment Bank
	 (d)	 World Bank

	 67.	 In the context of the Asian Development Bank 
consider the following statements:

	 1.	 It was established in 1966 with the aim of 
promoting economic development in the 
Asia and the Pacific regions.

	 2.	 Its headquarter is in Geneva.
	 3.	 The votin	g system in this bank is same as 

the World Bank, where the vote is divided 
in the proportion of capital held by the 
member states.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1 vkSj 3
	 68.	baizQkLVªDpj yhftax ,aM iQkbusafl;y lfoZlst (vkbZ,y 

,aM ,iQ,l) ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g Hkkjr ds xSj&cSafdax {ks=k dh ,d daiuh gSA

	 2.	 ;g Hkkjr dh izeq[k volajpuk fodkl rFkk foÙk 
daifu;ksa eas ls ,d gSA 

	 3.	 bldk dk;Z izeq[k vkèkkjHkwr ifj;kstuk ds fy;s 
foÙk rFkk ½.k iznku djuk gSA

	 4.	 bldh ifj;kstukvksa esa ,f'k;k dh lcls yach 
f}&fn'kkRed lqjax psukuh&uk'kjh 'kkfey gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1, 2 vkSj 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 2, 3 vkSj 4	 (d)	 1, 2, 3 vkSj 4
	 69.	baVjvkWijsfcfyVh ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ;g ,d rduhdh vuqdwyrk gS] tks ,d Hkqxrku 

iz.kkyh dks fdlh nwljh Hkqxrku iz.kkyh ls tqM+us 
eas l{ke cukrh gSA

	 2.	 okWysV ,dhÑr Hkqxrku iz.kkyh ds }kjk bldks 
dk;kZfUor dj ldrs gaSA 

	 3.	 bldk lcls cM+k ykHk cSadksa ,oa daifu;ksa dks 
gksxkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 70.	LFkkuh; Hkkxhnkjh O;oLFkk ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 ;g fo'o cSad ds dk;ZØeksa dh leh{kk vkSj 

ekxZn'kZu rFkk mudh izHkko'khyrk dks vkdfyr 
djus gsrq izcaèku cksMZ ds fy;s ,d egÙoiw.kZ 
midj.k gSA

	 2.	 ;g izsQeodZ Hkkjr ljdkj ds mPp] fVdkmQ vkSj 
lekos'kh fodkl ds mn~ns';ksa ds vuq:i gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	71.	la;qDr jk"Vª ekuokfèkdkj ifj"kn ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 gky gh esa Hkkjr dks bl ifj"kn ds lnL; ds 

:i eas pquk x;k gSA

	 2.	 Hkkjr dk pquko bl ifj"kn ds fy;s ̂ ,f'k;k&iz'kkar 
{ks=k* gsrq gqvk gSA

		  Which of the statement(s) given above is/are correct?
	 (a)	 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1 and 3 only

	 68.	 Consider the following statements in the context 
of the Infrastructure Leasing and Financial 
Services (IL&FS):

	 1.	 It is a company of non-banking sector in 
India.

	 2.	 It is one of the major infrastructure 
development and finance companies of 
India.

	 3.	 Its function is to provide finance and loan 
for major infrastructure projects.

	 4.	 The longest bi-directional tunnel of Asia, 
Chenani-Nashri is included in its project.

		  Which of the statements given above are correct?
	 (a)	 1, 2, and 3 only	 (b)	 2 and 3 only
	 (c)	 2, 3 and 4 only	 (d)	 1, 2, 3 and 4

	 69.	 Consider the following statements in the context 
of Interoperability:

	 1.	 This is a technical compatibility that enables 
a payment system to be connected to any 
other payment system.

	 2.	 It can be implemented through Wallet 
Integrated Payment System.

	 3.	 The banks and companies will be the major 
beneficiaries of this system.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 70.	 Consider the following statements in the context 
of Local Partnership System:

	 1.	 It is an important tool of management board 
to review and guide the programs of World 
Bank and assess their effectiveness.

	 2.	 This framework is in line with the high, 
sustainable and inclusive development 
objectives of the Government of India.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 71.	 Consider the following statements in the context 
of the United Nations Human Rights Council:

	 1.	 Recently India has been elected as a member 
of this Council.

	 2.	 India is elected for this Council for 'Asia-
Pacific region'.
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	 3.	 u, lnL;ksa esa cgjhu] ckaXykns'k] fiQth vkSj 
fiQyhihal 'kkfey gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 1, 2 vkSj 3
	 (c)	 dsoy 3	 (d)	 dsoy 2 vkSj 3
	 72.	Xykscy fjiksVZ fuEufyf[kr esa ls fdlds }kjk tkjh dh 

tkrh gS\

	 (a)	 la;qDr jk"Vª ekuokfèkdkj ifj"kn

	 (b)	 fo'o cSad
	 (c)	 vadVkM

	 (d)	 fo'o O;kikj laxBu
	73.	Xykscy dkmaVj&Vsjfj”e iQksje ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g ,d cgqi{kh;] vukSipkfjd] vjktuhfrd 

laLFkku gS] ftldh LFkkiuk 2011 esa dh xbZ FkhA

	 2.	 bldk izeq[k y{; la;qDr jk"Vª }kjk vkradokn 
dk eqdkcyk djus ds fy;s viukbZ tkus okyh 
oSf'od j.kuhfr ds dk;kZUo;u dk leFkZu vkSj 
mRizsj.k djuk gSA

	  3.	 Hkkjr vkSj ikfdLrku nksuksa bl iQksje ds laLFkkid 
lnL; gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 74.	,l&400 ,;j felkby flLVe ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 bls :l ds vYekt dsanzh; fM”kkbu C;wjks }kjk 

1990 ds n'kd esa fodflr fd;k x;k gSA

	 2.	 bls :l us lhfj;k esa rSukr fd;k gSA

	  3.	 ;g lrg&ls&gok esa ekj djus okyh nqfu;k dh 
loZJs"B iz.kkfy;ksa esa ls ,d ekuh tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSUk&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 75.	m”csfdLrku ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 ;g viQxkfuLrku dh nf{k.kh lhek ls yxk ,d 

ns'k gSA

	 2.	 ;gk¡ ds jk"Vªifr 'kkSdr feftZ;ks;so us lqj{kk ifj"kn 
esa Hkkjr dh LFkk;h lnL;rk dk leFkZu fd;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 3.	 Bahrain, Bangladesh, Fiji and Philippines 
are included in new members.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 1, 2 and 3
	 (c)	 3 only	 (d)	 2 and 3 only

	 72.	 The Global Report is issued by which of the 
following institutions?

	 (a)	 United Nations Human Rights Council
	 (b)	 World Bank
	 (c)	 UNCTAD
	 (d)	 World Trade Organization

	 73.	 Consider the following statements in the context 
of the Global Counterterrorism Forum:

	 1.	 This is a multilateral, informal, non-political 
institution, which was established in 2011.

	 2.	 Its main objective is to support and stimulate 
the implementation of the global strategy 
adopted by the United Nations to combat 
terrorism.

	 3.	 Both India and Pakistan are the founding 
members of this forum.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3

	 74.	 Consider the following statements in the context 
of the S-400 Air Missile System:

	 1.	 It was developed by the Almaz Central 
Design Bureau of Russia in the 1990s.

	 2.	 Russia has deployed it in Syria.
	 3.	 It is considered to be one of the best surface-

to-air attack systems of the world.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 75.	 Consider the following statements in the context 
of Uzbekistan:

	 1.	 It is a country located in the southern border 
of Afghanistan.

	 2.	 The President of Uzbekistan Shavkat 
Mirziyoyev has supported India’s bid as 
permanent membership in the Security 
Council.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 76.	lrr~ fodkl dk;Z;kstuk ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 gky gh esa Hkkjr ljdkj ds uhfr vk;ksx vkSj 
la;qDr jk"Vª ds }kjk 7 o"khZ; bl dk;Z;kstuk ij 
gLrk{kj fd;s x,A

	 2.	 bl dk;Z;kstuk ds fy;s uhfr vk;ksx la;qDr jk"Vª 
ds led{k Hkkjr ljdkj dh izfrfufèk laLFkk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 77.	varjkZ"Vªh; vkradokn ij O;kid vfHkle; ds mn~ns'; 

ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 lHkh vkradh laxBuksa dks izfrcafèkRk djuk rFkk 

vkradh xfrfofèk;ksa esa lafYkIr dSaiksa dks can djukA

	 2.	 fo'ks"k dkuwuksa ds rgr lHkh vkradokfn;ksa ij 
eqdnes pykukA

	 3.	 vkradokn dh lkoZHkkSfed ifjHkk"kk dks ;w,uth, 
ds lHkh 193 lnL; ns'kksa }kjk viuh vkijkfèkd 
fofèk esa viuk;k tkukA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 1] 2 vkSj 3	 (d)	 dsoy 1 vkSj 3
	 78.	Hkkjr ds mijk"Vªifr ,e-osadS;k uk;Mw 14 ls 20 flracj] 

2018 rd rhu ns'kksa dh vkfèkdkfjd ;k=kk ij jgsA bu 
ns'kksa dh HkkSxksfyd ,oa jktuhfrd fLFkfr;ksa ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 lfcZ;k eè; vkSj nf{k.k ;wjksi dk ,d Hkw&vkc¼ 
ns'k gS ,oa bldh jktèkkuh csyxzsM gSA

	 2.	 oSysV~Vk] tks ekYVk dh jkt/kuh gS] ;wjksih; la?k 
dh lcls NksVh jk"Vªh; jktèkkuh gSA

	 3.	 jksekfu;k dkyk lkxj ds rV ij ckYdu izk;}hi 
ds mÙkj esa vofLFkr gS ,oa bldh jktèkkuh 
cqMkisLV gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1] 2 vkSj 3
	 79.	varjkZ"Vªh; eqnzk dks"k ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ukS: x.kjkT; bldk lnL; cuus okyk vkf[kjh 

(189ok¡) ns'k gSA

	 2.	 blus Hkkjrh; ewy dh vFkZ'kkL=kh xhrk xksihukFk 
dks viuk eq[; vFkZ'kkL=kh fu;qDr fd;k gSA

	 3.	 bl laLFkk esa eq[; vFkZ'kkL=kh in ij igq¡pus okys 
igys Hkkjrh; j?kqjke jktu FksA

	 76.	 Consider the following statements in the context 
of the Sustainable Development Action Plans:

	 1.	 NITI Aayog of Government of India and the 
United Nations recently signed this 7-year 
action plan.

	 2.	 The NITI Aayog is a representative body of 
the Government of India equivalent to the 
United Nations for this action plan.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 77.	 In the context of the objective of the Comprehensive 

Convention on International Terrorism, consider 
the following statements :

	 1.	 Restricting all terrorist organizations 
and closing camps involved in terrorist 
activities.

	 2.	 Prosecuting all terrorists under special laws.
	 3.	 Adopting the universal definition of 

terrorism by all the 193 member countries 
of the UNGA in its criminal law.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1, 2, and 3	 (d)	 1 and 3 only
	 78.	 The Vice-President of India M. Venkaiah Naidu 

was on official visit to the three countries from 
14th to 20th September, 2018. Consider the 
following statements in the context of the 
geographical and political conditions of these 
countries:

	 1.	 Serbia is a land-locked country of Central 
and Southern Europe and its capital is 
Belgrade.

	 2.	 Valletta, the capital of Malta, is the smallest 
national capital of the European Union.

	 3.	 Romania is located in the north of the 
Balkan Peninsula on the coast of the Black 
Sea, and its capital is Budapest.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 3 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3
	 79.	 In the context of International Monetary Fund, 

consider the following statements:
	 1.	 The Republic of Nauru is the last (189th) 

country to become its member.
	 2.	 It has appointed Indian origin economist 

Gita Gopinath as its chief economist.
	 3.	 The first Indian to reach the post of Chief 

Economist in this institution was Raghuram 
Rajan.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 2 	 (d)	 1] 2 vkSj 3
	 80.	lqjcgkj ok| ;a=k ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ;g flrkj dk ,d vU; :i gS] tks rkacs dk 

cuk gksrk gSA

	 2.	 vUuiw.kkZ nsoh bl ok| ;a=k dh izfl¼ oknd Fkha]
ftudk gky esa fuèku gks x;kA

	 3.	 vUuiw.kkZ nsoh dk okLrfod uke jks'ku vkjk Fkk] tks 
fganqLrkuh 'kkL=kh; laxhr dh izfl¼ laxhrdkj FkhaA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2
	 (b)	 dsoy 2 vkSj 3
	 (c)	 1, 2 vkSj 3
	 (d)	 mi;qZDr esa ls dksbZ ughaA
	 81.	tkiku dk lcls cM+k lEeku ^iqQdqvksdk dyk ,oa 

laLÑfr iqjLdkj* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g iqjLdkj NÙkhlx<+ dh yksd xkf;dk rhtu 
ckbZ dks mudh iaMokuh dyk ds fy;s iznku fd;k 
x;k gSA

	 2.	 rhtu ckbZ ls igys ;g iqjLdkj Hkkjrh; laxhrdkj 
,-vkj- jgeku dks fn;k x;k FkkA

	 3.	 iaMokuh Lo:i esa ,d gkFk esa ,drkjk rFkk nwljs 
gkFk esa [kM+rky ds lkFk dsoy xk;u fd;k 
tkrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2	 (d)	 1] 2 vkSj 3
	 82.	ukxkySaM ds xkaèkh ds uke ls fuEufyf[kr esa ls dkSu 

tkuk tkrk gS\

	 (a)	 uVoj BDdj	 (b)	 usÝ;w fj;ks
	 (c)	 fpaxokax	 (d)	 f'kfduks lSe
	 83.	ijek.kq ÅtkZ foHkkx ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 bl foHkkx esa Hkkjr ljdkj dk lfpo_ ijek.kq 

ÅtkZ vk;ksx dk insu vè;{k gksrk gSA

	 2.	 gky esa deys'k uhydaB O;kl dks bl foHkkx 
dk lfpo cuk;k x;k gSA

	 3.	 bl foHkkx dh LFkkiuk 3 vxLr] 1954 dks dh 
xbZ FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 80.	 Consider the following statements in the context 
of Surbahar musical instrument:

	 1.	 It is another form of sitar, which is made-up 
of copper.

	 2.	 Annapurna Devi was the famous player of 
this instrument, who passed away recently.

	 3.	 The real name of Annapurna Devi was 
Roshan Ara, who was famous musician of 
Hindustani classical music.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1, 2 and 3	 (d)	 None of the above

	 81.	 In the context of the biggest honour of Japan, 
'Fukuoka Arts and Culture Prize', consider the 
following statements :

	 1.	 This award has been given to the folk singer 
of Chhatisgarh Teejan Bai for her Pandavani 
art.

	 2.	 Prior to Teejan Bai, Indian musician A.R. 
Rahman was conferred with this award.

	 3.	 In Pandavani art form, only singing is done 
with an ektara in one hand and a kartal in 
another hand.

		  Which of the statement(s) given above is/are NOT 
correct?

	 (a)	 3 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 82.	 Who among the following is known as Gandhi of 
Nagaland?

	 (a)	 Natwar Thakkar	 (b)	 Neiphiu Rio
	 (c)	 Chingwang	 (d)	 Shikino Sam

	 83.	 In the context of the Department of Atomic Energy, 
consider the following statements:

	 1.	 In this department the Secretary of 
the Government of India is the ex-
officio Chairman of the Atomic Energy 
Commission.

	 2.	 Recently, Kamlesh Nilkanth Vyas has 
been appointed as the secretary of this 
department.

	 3.	 This department was established on August 
3, 1954.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 84.	ukscsy iqjLdkj 2018 ds lanHkZ esa fuEufyf[kr ;qXeksa dks 
lqesfyr dhft;s%

	 	 ({ks=k)		 (lacafèkr O;fDr)

	 A.	 fpfdRlk	 1.	 fofy;e Mh- ukWMZgkWl 

	 	 	 	,oa ikWy ,e-jksej

	 B.	 HkkSfrdh	 2.	tsEl ih ,fylu vkSj 

	 	 	 	rklqdw gksatks

	 C.	 'kkafr 	 3.	vkFkZj ,f'du] xsjkMZ 

	 	 	 	eksjksm ,oa MksUuk 	
	 	 fLVªdySaM

	 D.	 vFkZ'kkL=k	 4.	Msful eqDost ,oa 

	 	 	 	ukfn;k eqjkn

	 	dwV%
		  A	 B	 C	 D
	 (a)	 3	 2	 1	 4
	 (b)	 2	 3	 4	 1

	 (c)	 1	 2	 3	 4
	 (d)	 4	 3	 2	 1

	 85.	LoPN losZ{k.k xzkeh.k iqjLdkj&2018 ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g losZ{k.k gky gh esa is;ty vkSj LoPNrk 
ea=kky; }kjk 'kq: fd;k x;k gSA

	 2.	 mÙkj izns'k dks is;ty vkSj LoPNrk ds {ks=k esa 
lokZfèkd tuHkkxhnkjh ds fy;s izFke LFkku izkIr 
gqvk gSA

	 3.	 lcls vPNs f”kyksa dh jSa¯dx esa igyk LFkku 
egkjk"Vª ds lrkjk f”kys dks feyk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 2 	 (d)	 1] 2 vkSj 3
	 86.	pSafi;al vkWiQ n vFkZ vokWMZ dh fuEufyf[kr esa ls fdl@

fdu Js.kh@Jsf.k;ksa ds fy;s Hkkjr ds izèkkuea=kh ujsanz eksnh 
dks la;qDr jk"Vª dk loksZPp lEeku izkIr gqvk gS\	

	 1.	 ykbiQVkbe vphoesaV	 2.	uhfr usr`Ro

	 3.	 dk;Z vkSj izsj.kk	 4.	m|eh n`f"V

	 5.	 foKku vkSj uokpkj	

	 	dwV%

	 (a)	 dsoy 2

	 (b)	 dsoy 2, 3 vkSj 4

	 (c)	 dsoy 3, 4 vkSj 5

	 (d)	 dsoy 1

	 84.	 Match the following pairs in the context of Nobel 
Prize 2018:

		  (Fields)		  (Related person)
	 A.	 Medicine	 1.	William D. Nordhaus 

and Paul M. Romer
	 B.	 Physics	 2.	James P. Allison and 

Tasuku Honjo
	 C.	 Peace	 3.	Arthur Ashkin, 

Gérard Mourou and 
Donna Strickland

	 D.	 Economics	 4.	Denis Mukwege and 
Nadia Murad

		  Code:
		  A	 B	 C	 D
	 (a)	 3	 2	 1	 4
	 (b)	 2	 3	 4	 1
	 (c)	 1	 2	 3	 4
	 (d)	 4	 3	 2	 1

	 85.	 Consider the following statements in the context 
of Swachh Survekshan Grameen Award-2018:

	 1.	 This survey has recently been launched by 
Ministry of Drinking Water and Sanitation.

	 2.	 Uttar Pradesh has been ranked first in the 
field of drinking water and sanitation for 
highest public participation.

	 3.	 The first rank among the ranking of best 
districts has been conferred to the Satara 
district of Maharashtra.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 86.	 In which of the following category/categories of 
the Champions of the Earth award, the highest 
honour of the United Nations, has been received 
by the Prime Minister of India Narendra Modi?

	 1.	 Lifetime Achievement
	 2.	 Policy Leadership
	 3.	 Inspiration and Action
	 4.	 Entrepreneurial Vision
	 5.	 Science and Innovation

		  Code:
	 (a)	 2 only
	 (b)	 2, 3 and 4 only
	 (c)	 3, 4 and 5 only
	 (d)	 1 only
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	 87.	eSu cqdj iqjLdkj 2018 ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 mÙkjh vk;jySaM dh ysf[kdk ,Uuk cUlZ us ;g 
iqjLdkj thr fy;k gSA

	 2.	 ,Uuk cUlZ dks ;g iqjLdkj muds izfl¼ miU;kl 
^feYdeSu* ds fy;s fn;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 88.	'kkafrLo:i HkVukxj iqjLdkj&2018 ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g iqjLdkj oSKkfud rFkk vkS|ksfxd vuqlaèkku 

ifj"kn (lh,lvkbZvkj) }kjk vius LFkkiuk fnol 
ds volj ij tkjh fd;k tkrk gSA

	 2.	 lh,lvkbZvkj ,d Lok;Ùk laLFkk gS rFkk Hkkjr 
dk izèkkuea=kh bldk vè;{k gksrk gSA

	 3.	 MkW- x.ks'ku osadV lqcze.;u dks fpfdRlk foKku 
ds {ks=k esa ;g iqjLdkj fn;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3
	 89.	xksYMu Xyksc jsl 2018 ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g ,d ukSdk;u nkSM+ gSA
	 2.	 ,f'k;k ds ,dek=k Hkkx ysus okys izfr;ksxh Hkkjrh; 

ukSlsuk ds dekaMj vfHkyk"k VkWeh gSaA
	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 90.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 iq";fe=k 'kqax vafre ekS;Z 'kkld c`gnzFk dh gR;k 

dj Lo;a jktk cuk vkSj 'kqax oa'k dh uhao MkyhA
	 2.	 vfXufe=k dkfynkl ds izfl¼ ukVd ̂ekyfodkfXufe=ke* 

dk uk;d gSA
	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 91.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Mkbesdl lhfj;u ujs'k vafÙk;ksdl dk jktnwr 

Fkk] tks v'kksd ds jktnjckj esa vk;k FkkA
	 2.	 Mk;ksfufl;l felz ujs'k VkWyseh fiQykMsYiQl dk 

jktnwr Fkk] tks fcanqlkj ds jktnjckj esa vk;k FkkA
	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 87.	 Consider the following statements in the context 
of the Man Booker Prize 2018:

	 1.	 Anna Burns, the writer from Northern 
Ireland, has won this award.

	 2.	 Anna Burns has been given this award for 
her famous novel 'Milkman'.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 88.	 Consider the following statements in the context 

of Shanti Swarup Bhatnagar Award-2018:
	 1.	 This award is given by the Council of 

Scientific and Industrial Research (CSIR) 
on the occasion of its Foundation Day.

	 2.	 CSIR is an autonomous institution and the 
Prime Minister of India is its Chairman.

	 3.	 Dr. Ganesan Venkatasubramanian has been 
given this award in the field of medical 
science.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3
	 89.	 Consider the following statements in the context 

of the Golden Globe Race 2018:
	 1.	 This is a sailing race.
	 2.	 Abhilash Tomy, the Indian Navy 

Commander, is the only participant from 
Asia.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 90.	 Consider the following statements:
	 1.	 Pushyamitra Shungs became the king after 

killing the last Mauryan ruler Brihadratha 
and laid the foundation of the Shunga 
dynasty.

	 2.	 Agnimitra is the protagonist of Kalidasa's 
famous play 'Malavikagnimitram'.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 91.	 Consider the following statements:
	 1.	 Deimachus was the ambassador of the 

Syrian monarch Antiochus, who came to 
Ashoka's court.

	 2.	 Dionysius was the ambassador of the 
Egyptian king Ptolemy Philadelphus, who 
came to Bindusara's court.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 92.	fuEufyf[kr fdl jpuk@fdu jpukvksa ls ekS;Zdky ds 
ckjs esa tkudkjh feyrh gS\

	 1.	 eqnzkjk{kl	 2.	dFkklfjRlkxj
	 3.	 o`gr~dFkkeatjh	 4.	e`PNdfVde~
	 	dwV%

	 (a)	 dsoy 1, 2 vkSj 3 	 (b)	 dsoy 4
	 (c)	 dsoy 3 vkSj 4	 (d)	 dsoy 2, 3 vkSj 4
	 93.	fuEufyf[kr esa ls dkSu&lk@ls ;qXe lqesfyr gS@gSa\
	 	 (vfHkys[k)		 ('kkld)

	 1.	 iz;kx LraHk ys[k	 &	leqnzxqIr

	 2.	 ,sgksy vfHkys[k	 &	iqydsf'ku f}rh;

	 3.	 Hkhrjh LraHk ys[k	 &	xkSreh cyJh

	 4.	 gkFkhxqEiQk vfHkys[k	 &	[kkjosy

	 	dwV%

	 (a)	 dsoy 3	 (b)	 dsoy 1, 2 vkSj 4
	 (c)	 dsoy 2, 3 vkSj 4	 (d)	 dsoy 3 vkSj 4
	 94.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 iQkáku panzxqIr f}rh; (foØekfnR;) ds 

'kkludky esa Hkkjr vk;k FkkA

	 2.	 g~osulkax g"kZo¼Zu ds le; Hkkjr vk;k Fkk] vkSj 
mlus ^lh&;w&dh* iqLrd dh jpuk dhA

	 3.	 vyc:uh egewn x”kuoh ds lkFk Hkkjr vk;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3
	 95.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ÍXosn esa 10 eaMy gSa] ftuesa eaMy 2 ls 7 rd 

izkphure va'k gSa rFkk izFke o n'ke eaMy lcls 
ckn esa tksM+s x,A

	 2.	 mÙkj oSfnd ;qx esa igyh ckj ^jktRo dh 
voèkkj.kk* vkbZ rFkk lHkk] lfefr tSlh ifj"knsa 
vfèkdkjfoghu gks xb±A 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 96.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ckS¼ èkeZ dh izFke laxhfr 483 bZ- iw- esa egkdLli 

dh vè;{krk esa lIrif.kZ xqiQk (jktx`g) esa 
vk;ksftr dh xbZA

	 2.	 tSu èkeZ dh izFke laxhfr ikVfyiq=k (fcgkj) esa 
vk;ksftr dh xbZ] ftldk lapkyu LFkwyHknz 
us fd;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 92.	 From which of the following compositions we get 
information about the Mauryan period?

	 1.	 Mudrarakshasa	 2.	 Kathasaritsagara
	 3.	 Brihatkathamanjari	 4.	 Mrichchhakatikam
		   Code:
	 (a)	 1, 2 and 3 only	 (b)	 4 only
	 (c)	 3 and 4 only	 (d)	 2, 3 and 4 only
	 93.	 Which of the following pairs is/are correctly 

matched?
 		   (Inscription)		  (Ruler)
	 1.	 Prayag Pillar inscription	-	 Samudragupta
	 2.	 Aihole inscription	 -	 Pulakeshin II
	 3.	 Bhitari pillar inscription	 -	 Gautami Balashri
	 4.	 Hathigumpha inscription	 -	 Kharavela
		   Code:
	 (a)	 3 only	 (b)	 1, 2 and 4 only
	 (c)	 2, 3 and 4 only	 (d)	 3 and 4 only
	 94.	 Consider the following statements:
	 1.	 Fa-Hien visited India during the reign of 

Chandra Gupta II (Vikramaditya).
	 2.	 Hiuen Tsang visited India during the reign 

of Harshavardhana, and he wrote the book 
‘Si-yu-ki’.

	 3.	 Al-Biruni came India with Mahmud 
Ghaznavi.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3
	 95.	 Consider the following statements:
	 1.	 The Rigveda contains 10 mandalas, in 

which from 2nd to 7th mandalas are oldest 
parts and the 1st and 10th mandalas were 
added later.

	 2.	 For the first time in the Later Vedic Era, 'The 
concept of Statehood' emerged and councils 
like Sabha and samiti became powerless.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 96.	 Consider the following statements:
	 1.	 The first Buddhism council was held in 

483 B.C. in the Saptaparni cave (Rajgriha) 
under the chairmanship of Mahākāśyapa.

	 2.	 The first Jain council was organized in 
Pataliputra (Bihar), which was conducted 
by Sthulabhadra.

	  	Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 97.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 èkeZiky us foØef'kyk fo'ofo|ky; (Hkkxyiqj) 

vkSj lkseiqjh fogkj dh LFkkiuk djokbZA

	 2.	 xksiky] tks tSu erkuq;k;h Fkk] mlus ^vksnariqjh 

fogkj* ,oa ^ukyank fogkj* dk fuekZ.k djok;kA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 98.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 jk"VªdwV jktoa'k dh LFkkiuk nafrnqxZ us dh Fkh 

,oa bl jktoa'k dh Hkk"kk dUuM+ FkhA

	 2.	 veks?ko"kZ us ^dfojkt ekxZ* xzaFk dh jpuk dh 

FkhA

	 3.	 pksy 'kkld Ñ".k izFke us ,yksjk esa dSyk'kukFk 

eafnj dk fuekZ.k djok;kA 

	 	mi;qZDr dFkukas esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 99.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 eqgEen xksjh ds flDdksa ij ,d vksj dyek [kqnk 

jgrk Fkk rFkk nwljh vksj y{eh dh vkÑfr vafdr 

jgrh FkhA

	 2.	 cycu bYrqrfe'k dk nkl Fkk] ftls ^Xokfy;j 

fot;* ds ckn [kjhnk x;k FkkA

	 3.	 izfl¼ lwiQh lar [oktk dqrqcqíhu cf[r;kj dkdh 

ds uke ij vkxjk esa dqrqcehukj dh uhao j[kh 

xbZA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSas\

	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	100.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fiQjks”k'kkg rqxyd us mM+hlk ds vfHk;ku ds ckn 

txUukFk eafnj dks ywVkA

	 2.	 fldanj yksnh us 1504 bZ- esa vkxjk dk fuekZ.k 

djok;kA

	 3.	 1518 bZ- esa ?kVksyh dh yM+kbZ esa esokM+ ds jk.kk 

lkaxk us bczkfge yksnh dks ijkftr fd;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3

	 97.	 Consider the following statements:
	 1.	 Dharmapala established Vikramshila 

University (Bhagalpur) and Somapuri 
Vihar.

	 2.	 Gopal, who was the follower of Jainism, 
established 'Odantapuri Vihar' and 'Nalanda 
Vihar'.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 98.	 Consider the following statements:
	 1.	 The Rashtrakuta Dynasty was founded by 

Dantidurga and the language of this dynasty 
was Kannada.

	 2.	 Amoghavarsha composed the text 
'Kavirajmarga'.

	 3.	 Chola ruler Krishna-I built the Kailashnath 
temple in Ellora.

		  Which of the statement(s) given above is / are NOT 
correct?

	 (a)	 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 99.	 Consider the following statements:
	 1.	 The Kalma was marked on the one side 

and the face of Lakshmi was marked on 
the other side on the coins of Muhammad 
Ghori.

	 2.	 Balban was the slave of Iltutmish, who was 
bought after 'Gwalior conquest'.

	 3.	 The foundation of Qutub Minar was laid in 
Agra after the name of the famous Sufi saint 
Khwaja Qutbuddin Bakhtiar Kaki.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	100.	 Consider the following statements:
	 1.	 Firoz Shah Tughlaq mugged (robbed) the 

Jagannath temple after the campaign of 
Orissa.

	 2.	 Sikandar Lodi built Agra in 1504 A.D.
	 3.	 Rana Sanga of Mewar defeated Ibrahim 

Lodi in the battle of Khatoli in 1518 A.D.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3


